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N	��9: 1ا	ا .�
AU �O دة�S ك

	2. 	����وع �Z ا	7�9 ان 	Y2 ه0N	�23. ا	ا �O
و % Z�  =12 ا	7�9 أن �9
�; ا	\7L أو?� ]
  �E0ات10"�� ا	���وع 

NPV=)200,000 x (5.6502  - 500,000  =630,040 
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N	\�دة : 2ا	�2. اc 7�9 أن	ا Z� وع����	2. 	
N	�23. ا	ا �O
و "�� % Z� =12 ا	7�9 أن �9
�; ا	\7L  100,000أو?� ]

 �E0ات10ا	���وع 
NPV  =)200,000 x 5.6502 ( +)x 100,000 0.3220(– 500,000  =597,840 
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N	دة : 3ا�S �?E� f H25 .2	
N	�23. ا	ا �O

	�،أو?� ]�	
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ت ا	��30. آO��	ا ZcEM .	
5 �O) : -	وT/0. ا	/0. 300,000ا	ا ،
.2U
  Z� =12% ا	7�9 أن �9
�; ا	\7L  )500,000 ا	�
	�.، ا	/0. 400,000 ا	�


	2. 	�/0. اTو	-N	�23. ا	300000= ا x 0.8929  =267870  
.2U

	2. 	�/0. ا	�N	�23. ا	400000=ا  x 0.7992 =  319680  
.�	

	2. 	�/0. ا	�N	�23. ا	500000=ا x  0.7118   =355900 
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N	�23. ا	ا �O
  443450=  500000 – 355900 + 319680+  267870= اذا ]
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N	�23. ا	ا �O
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	�.400,000 ، ا	/0. ا	�

	2. 	�/0. اTو	-N	�23. ا	300000= ا x 0.8929  =267870  
.2U

	2. 	�/0. ا	�N	�23. ا	400000=ا  x 0.7992 =  319680  
.�	

	2. 	�/0. ا	�N	�23. ا	500000=ا x  0.7118   =355900  

 �2c3  =100000 x .7118 = 71180. ا	\�دة �O ا	/0. 
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N	�23. ا	ا �O
  514630=  500000 –71180+  355900 + 319680+  267870= اذا ]
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N	�23. ا	ا �O
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	2. 	�/0. اTو	-N	�23. ا	300000= ا x 0.8929  =267870  
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	2. 	�/0. ا	�N	�23. ا	400000=ا  x 0.7992 =  319680  .2اآ���	2. ا	
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N	�23. ا	814200=  355900+  458300= ، ا  
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5 �O، دة�S �?E� f H25) : -	وT/0. ا	/0. 300,000ا	ا ،
.2U
  Z� =12% ا	7�9 أن �9
�; ا	\7L  )500,000 ، ا	/0. ا	�
	�.400,000 ا	�


	2. 	�/0. اTو	-N	�23. ا	300000= ا x 0.8929  =267870  
.2U

	2. 	�/0. ا	�N	�23. ا	400000=ا  x 0.7992 =  319680  
.�	

	2. 	�/0. ا	�N	�23. ا	500000=ا x  0.7118   =355900  
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	2. 	�/0. اTو	-N	�23. ا	ا  �O .	
512% =300000 x 0.8929  =267870  
.2U

	2. 	�/0. ا	�N	�23. ا	ا  .	
5 �O12%=400000  x 0.7992 =  319680   
.�	

	2. 	�/0. ا	�N	�23. ا	ا  .	
5 �O12%=500000 x  0.7118   =355900   

  
 .2	
N	�23. ا	ا �O

	2. =اذا ]N	723 ا	ع اE���-  �i���	ر ا
����f163100= ا  
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5 �O -	وT/0. ا�	2. 	
N	�23. ا	300000= %20ا x 0.8333  =148810.7  
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	2. 	�/0. ا	�N	�23. ا	400000=%20ا  x 0.6944 =  138741.1   
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 .2	
N	�23. ا	ا �O

	2. =اذا ]N	723 ا	ع اE���-  �i���	ر ا
����f47680.7-= ا  
  

2
�M أEUر ?��0، وا	� �I	nخ NM Z�A L M a i s t R o  


